Homework – Due by Saturday 12/6/08

Simplify or Perform operation 

2)   (5m – 6n)/(6n – 5m)


 

5)
(3x – 6)/(x2 – 4x + 4) 

 

9)
(4 – a)/ 5 divided by (a2 – 16)/3

 

12)
(w2-1)/(w – 1)2     *      (w – 1)/(w2 + 2w + 1)

 

 

17)
2/(x-3)  +  3/(3-x)

 

 

Solve
 

23)      y   =   6        
           3                5   
 
26)
If four out of five doctors prefer fast food, than at a convention of 455 doctors, how many probably ate fast food for lunch?  Set up an equation and solve. 
Test – Due by Monday 12/8

1)      Simplify x2 + 3x – 18 divided by x2 -36

 

2)      Simplify 2x2 – 18y2 divided by 3y -x

 

3)      Perform the task  (y2 – 2y + 1 divided by y2 – 1) multiplied by (2y2 + y – 1 divided by 5y – 5)

 

4)      Perform the task (x2 + x –2 divided by 10) divided by (2x + 4 divided by 5)

 

5)      Perform the task  (8x – 5)/(3x – 1) + (4x + 1)/(3x –1)

 

6)      Perform the task  (x + 5)/(x – 3) – x/(3 – x)

 

7)      Perform the task  (y –1)/(y2 – 2y +1) – (y + 1)/(y – 1)

 

8)      Perform the task  4/(x2 – x – 6)  -  4/(x2 – 4)

 

9)      Perform the task  (2y – 5)/(6y + 9) -  4/(2y2 + 3y)

 

10)   Perform the task  2x/(x2 – 9) + 3x/(x2 + 4x + 3)

 

11)  Solve  3/x – 1/6 = 1/x

 

12)  Solve  x + 5 = 6/x

 

13)  Solve  2/(x – 3) =  4/(x + 3) + 8/(x2 – 9)

 

14)  Solve 13/(y – 1) – 3 =  1/(y – 1)

 

15)  Solve (x + 3)/(x –1) = (x + 2)/(x – 3)

